=LPDB

*UXSD 5R]NiDG 63 /2 7\J
o
™
=
n
oD
D
™
o3
7\6] 7\6]
YRQHIAND IRQRIRJID | YRQHIND IRQRIRIID |
- RUIRIRQLD ICT\ND RUIRIRQLD ICT\ND
T SRINIHIR SURI GU KDE SRIVNIHIR SURI GU KDE
S 1RZDNRZVND . HPSQD 1RZDNRZVND . HPSQD
7 ,ZRQD =DICFID RQ 1QH ,ZRQD =DICFID RQ 1QH
63 /2 63 /2
QD SIDIIRUPLH JRIH QD SIDIRUPLH JRIH
FIDVVIRRP FIDVVURRP
7\6] 7\6] 7\6] 7\6] 7\6]
/RIRWIPIND HPLVID | /RIRWIPIND HPLVID | /RIRWIPIND HPLVID | 3V\FKRIQIZIVIAND L QHXURRQJIZLVIAND | | = \EUDQH ]DJIDGQLHQLD ] DQDIRPLL
KLILHQD JiRVX 6XVND KLILHQD JiRVX 6XVND KLILHQD JiRVX 6XVND GUKDE SURI 8-" -DIRV QIRIHID =% | [ILJIRIRJL L SDIRIRIL QDUJaGyZ 2FIDGA
=DJyUVND . DIDUJ\QD =% =DJyUVND . DIDUJNQD =% =DJyUVND . DIDUJ\QD =% 63 /2 —yIHI =% 63 /2
63 /2 63 /2 63 /2
7\6] 7\6] 7\6]
7\6] 7\6] = \EUDQH JDJIDGQLHQID ] YRQHIAND IRQRIRJID [ YRQHINND IRQRIRJID |
/RIRINIPIND HPLVID L KLIHQD JRVX 6 | = \EUDQH JDIDGQIHQID ] DQDIRPIL DQDIRPL ILJIRIRIL L RUIRIRQLD ICT\ND RUIRIRQLD IGT\ND
XVND =DJyUVND . DIDUJ\QD =% ILIRRIL L SDIRRJL QDUJaGyZ 2F]DGA SDIRIRJL QDU]aGyZ 2F] SRIVNIHIR SURI GU KDE SRIVNIHIR SURI GU KDE
63 /2 -yIHI =% 63 /2 DG -yTHI =% 1RZDNRZVND . HPSQD 1RZDNRZVND .HPSQD
63 /2 ,ZRQD =DICFID RQ 1QH \ZRQD =DICFID RQ 1QH
7\6] 7\6] 7\6] 63 /2 63 /2
JRIRWIPIND HPLVID | JRIRWIPIND HPLVID | JRIRWIPIND HPLVID | 6] QD SIDIRUPLH JRIH QD SIDIRUPLH JRIH
KLILHQD JiRVX 6XVND KLILHQD JiRVX 6XVND KLILHQD JiRVX 6XVND YRQHIAND IRQRIRJID | FIDVVURRP FIDVWURRP
=DJyUVND . DIDUJNQD =% =DJyUVND . DIDUJNQD =% =DJyUVND . DIDUJ\QD =% RUIRIRQLD ICT\ND _
63 /2 63 /2 63 /2 SRINIHIR = JLZLEVND 7\6] 7\6]
$QQD =% 63 YRQHIND IRQRIRJLD L RURIRQLD IE]\ND | JRQHINND IRQRIRJILD L
=) 7\6] 7\6] el /2 SRIVMHIR SURI GUKDE 1RZDNRZVND |RURIRQLD I]\ND
=z BSRINDQIH /RIRSHGLD IDNR QDXND 7\SRIRJIH JDEXUTHE 3 -HPSQD ,ZRQD =% 63 /2 |SRWNHIR SIRI GUKDE
w RUJDQUIDFNIQH SUIRI GU | [LQIHUG\VF\SIQDUQD SIRI PRZ\ SIRI GUKDE 7] 1RZDNRZVND . HPSQD
x KDE 1RZDNRZVND GUKDE 1RZDNRZVND 1RZDNRZVND . HPSQD YRQHIAND IRQRIRJID ( 7\6] ,ZRQD =DICFID RQ 11QH
-HPSQD ,ZRQD =% -HPSQD ,ZRQD =% ZRQD =% 63 RUIRIRQLD ICT\ND SRGVIDZ IDAQIRIRJL L 63 /2
63 /2 63 /2 /2 SRIVNIHIR SURI GU KDE DXGIRIJL 2FJDGA
1RZDNRZVND . HPSQD “yIHI =3 63 7\6]
7\6] 7\6] 7\6] ,zggo/;nucm RQ IQH 7% - \EUDQH JDIDGQHOD ]
= \EUDQH ]DJIDGQLHQD ] /RIRWIPIND HPLVID | /RIRWIPIND HPLVID | DQDIRPL ILJIRIRJL L
DQDIRPL IJIRIRIL L KLILHQD JiRVX 6XVND KLILHQD JiRVX 6XVND  |QD SIDIRUPLH JRIH 7\6] SDIRIRJL QDUJaGyZ 2F]
SDIRIRJLLQDU]aGyZ 2F] =DJyUVND . DIDUJ\QD =% =DJyUVND _DIDUJ\QD =% |FIDVVURRP SRGVIDZA IDINQIRIRJLL DG -yJHI =%
DG -yTHI =% 63 /2 63 /2 63 /2
y N DXGIRIRIL 3LHNDI
6372 7\G] GIHIDEVND "RUIRID =%
5 el el YRQHIND IRQRIRID | 63 /2 el
7\G] . 3V\FKRIQIZIVIND L = \EUDQH ]DJDGQIHQID ] | [RURIRQD ICT\ND = \EUDQH JDJDGQLHQID ]
YRQHINND IRQRIRJLD L RUIRIRQLD IE]\ND QHXURIRQIZIVIAND GU DQDIRPL ILJIRIRJL L SRINIHIR SURI GU KDE 7\6] DQDIRPL ILJIRIRJL L

SRIVNMIHIR *]LZIEVND $QQD =%

63 /2

KDE SURI 8-7 -DURV
OIRHIID =% 63
/2

SDIRIRJIL QDU]aGyZ 2F]
DG\ —y]HI =%
63 /2

1RZDNRZVND - HPSQD
,ZRQD =DICFID RQ (LQH
63 /2

DRQHINND IRQRIRJID L

RUIRIRQLD IC]\ND

SRIVNIHIR SURI GU KDE

1RZDNRZVND .HPSQD

,ZRQD =DICFLD RQ (LQH
63 /2

SDIRIRJL QDU]aGyZ 2F]
DG\ -y]HI =%
63 /2




=LPDB

*UXSD 5R]NiDG 63 /2 7\J
7\6] 7\6] 7\6] 7\6]
YRQHINND IRQRIRILD | YRQHINND IRQRIRILD | YRQHINND IRQRIRILD | 7\SRIRJIH JDEXUJHE
RUIRIRQLD ICT\ND RUIRIRQLD ICT\ND RUIRIRQLD ICT\ND PRZ\ SIRI GUKDE
SRINIHIR SURI GU KDE SRINIHIR SURI GU KDE SRINIHIR SURI GU KDE 1RZDNRZVND . HPSQD
1RZDNRZVND . HPSQD 1RZDNRZVND - HPSQD 1RZDNRZVND - HPSQD ZRQD =% 63
'ZRQD =DICFID RQ (IQH 'ZRQD =DICFID RQ (IQH ,ZRQD =DICFID RQ 1QH /2
A 63 /2 63 /2 63 /2
z QD SIDIIRUPLH JRIH 7\6]
w 7] 7] FIDVVIRRP YRQDILD 2FIDGA -yTHI
x YRQHIAND IRQRIRJID | YRQHIAND IRQRIRJID | % 63 /2
RUIRIRQLD IGT\ND RUIRIRQLD IGT\ND 7\6]
SRINIHIR SURI GU KDE SRINIHIR SURI GU KDE ‘ 7\6]
1RZDNRZVND . HPSQD 1RZDNRZVND . HPSQD QURWSTQBPE? uéj?%?émm YRQDIUD 3LHND!
+ZRQD =DICHD RQ 0lQH +ZRQD =DICHD RQ 0lQH SRIVMHJR SURI GU KDE GIHIDEVND "RURID =%
6372 6372 1RZDNRZVND - HPSQD 63 /2
QD SIDIIRUPLH JRIH QD SIDIIRUPLH JRIH ,ZRQD =DICFID RQ 1QH
FIDVVIRRP FIDVVIRRP 63 /2
7\6] 7\6] 7\6] 7\6] 7\6]
JRIRIIPIND HPLVID | KLIIHQD JiRVX 6 | | = \EUDQH JDIDGQIHQID ] DQDIRPL = \EUDQH JDJIDGQLHQID ] YRQDILD 2FIDGA -y]HI IRQHAND IRQRIRILD |
XVND =DJyUVND . DIDUJ\NQD =% IJIRIRIL L SDIRRJL QDUJaGyZ 2F]DGA DQDIRPL IJIRIRIL L v 63 /2 RUIRIRQLD IGT\ND
63 /2 -yIHI =% 63 /2 SDIRIRJL QDU]aGyZ 2F] SRINIHIR SURI GU KDE
DG -yTHI =% 1RZDNRZVND . HPSQD
7\G] 63/2 \ZRQD =DICFID RQ 1QH
YRQHAND IRQRIRILD L RURIRQLD IE]\ND 7\6] 6372
SRINIHIR SURI GUKDE 1RZDNRZVND 7\G] YRQHIND
_HPSQD ,ZRQD =% 63 /2 = \EUDQH JDJIDGQLHQID ] IRQRIRID L
DQDIRPL JIRIRIL L RURIRQLD
7\6] 7\6] SDIRIRJL QDU]aGyZ 2F] IE]\ND
= \EUDQH JDJIDGQIHQID ] SRGVIDZ\ IDINQJRIRJLL L DXGIRRIL 2F] DG -yJHI =% SRIVNHIR
DQDIRPLL 1LJIRIRJL L DGA\ -y HI =% /2 6372 SURI GU
SDIRIRIL QDU]aGyZ 2F] HJIDPLQ KDE
DGA\ ~yTHI =% 7\6] 7\G] 1RZDNRZV
63 /2 x 7\6] ND
7\SRIRJIH JDEXUJHE YRQHIAND IRQRIRJID | _HPSQD
PRZ\ SIRI GUKDE RUIRIRQLD ICT\ND YRQHIAND IRQRIRJID | ZROD =D
a 7\G] 1RZDNRZVND . HPSQD SRINIHIR SURI GU KDE RUIRIRQID ICT\ND ¢AD RO
T = \EUDQH JDJIDGQLHQID ] ZRQD =% 63 1RZDNRZVND . HPSQD SRIVNIHIR SURI GU KDE H 63
= DQDIRPL JIRIRIL L /2 ZRQD =% 63 1RZDNRZVND . HPSQD /5
Q SDIRIRJL QDU]aGyZ 2F] /2 ZRQD =% 63
= DG -yTHI =% 7\6] /2
© 6372
IRQHAND IRQRIRILD |
RURIRQLD IET\ND 7\6]
7\G] SRIVNIHIR SURI GU KDE 7] YRQHAND IRQRIRILD |
IRQHAND IRQRIRILD | 1RZDNRZVND . HPSQD YRQDIUD 2 RUIRIRQLD ICT\ND
RUIRIRQLD IGT\ND ,ZRQD =DICFID RQ 1QH FIDGAA SRINIHIR SURI GU KDE
SRINIHIR SURI GU KDE 63 /2 SYIHI =% 1RZDNRZVND - HPSQD
1RZDNRZVND . HPSQD 'ZRQD =DICFID RQ (IQH
ZRQD =% 63 7\6] 63 /2 63 /2
/2 /RIRIIPIND HPLVID L KLIIHQD JRVX 6
XVND =DJyUND . DIDUJ\QD =% 7] 7\6]
7\G] 63 /2 IRQHIAND IRQRIRILD | YRQHIAND IRQRIRIID L
YRQHAND IRQRIRILD | RUIRIRQLD IGT\ND RUIRIRQLD IGT\ND
RURIRQLD ICT\ND 7\6] SRINIHIR SURI GU KDE SRIVNIHIR SURI GU KDE
SRINIHIR SURI GU KDE - 1RZDNRZVND . HPSQD 1RZDNRZVND . HPSQD
1RZDNRZVND . HPSQD ;\QZRQRJSLE'R?DGEU%EE \ZRQD =DICFID RQ 1QH 'ZRQD =DICFID RQ 1QH
,ZRQD =DICFID RQ 1QH TRZDNRZWD . HPSQD 63 /2 63 /2
6372 \ZRQD =% 63 QD SIDIIRUPLH JRIH QD SIDHRUPLH JRIH
| /2 FIDVVIRRP FIDVVURRP




=LPDB
*UXSD 5R]INiDG

6372

7\J

QLHG]LHOD

7\6]

/RIRSHGID IDNR QDXND
LQIHUG\VF\SILQDUQD SURI GU KDE
1RZDNRZVND .HPSQD ,ZRQD =DICFID
RQUQH 63 /2

QD SIDIIRUPLH JRIIH FIDVVUIRRP

7\6]

7\SRIRJIH JDEXUTHE

PRZ\ SURI GU KDE

1RZDNRZVND .HPSQD

,ZRQD =DICFLD RQ IlQH
63 /2

QD SIDIIRUPIH JRIH

FIDVVUIRRP

7\6]

YRQHIND IRQRIRILD L

RUIRIRQLD ICT\ND

SRIVNIHJR SURI GU KDE

1RZDNRZVND . HPSQD

,ZRQD =DICFID RQ (IQH
63 /2




